Division par Puissances de Dix (H)

31 =+ 102

18 = 103

48 + 107

5+10°=

51 = 103

86 ~ 10°

90 + 103

79 = 102

14 + 101

15 = 101

Trouvez chaque quotient.

56 +~ 103 =

60 + 10" =

83 =+ 103

67 +10*

23 +10%=

60 + 10° =

29 - 10 =

38 +~10% =

92 + 107

15 - 10 =
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Division par Puissances de Dix (H) Solutions

Trouvez chaque quotient.

31+ 10*=0,31 56 +10%=10,056
18+ 10°=0,018 60 -10'=6

48 +10%= 0,48 83 +10%=0,083
5+ 10%=0,005 67 - 10t =6,7
51+ 10%=0,051 23 +10%=0,023
86 +~ 10° = 0,086 60 ~10° = 0,06
90 +10°=0,09 29 +-10'=29
79 = 10% = 0,79 38 +10%=0,38
14+ 10'=1,4 92 +10%=0,92
15+10'=1,5 15+10'=1,5

MathsLibres.Com




